St. Clair County Road Commission St. Clair County- Southern Paving St. Clair County, Michigan

February 13, 2024 @ 11:00 AM Bid Opening

Bidder	River Road	Fruit Street	Stone	Shortcut Road	East China Roads	Wadhams Road	M-29	Bid	Project Total
3.000	Miver Road	Truit Street	Benoit	Shortcut Noau	Last Cilila Noaus	<u>vvaunams Roau</u>	101-25	Bond	Project rotal
	se .		<u>Mckinley</u>					Y or N	
1. Ace -Saginaw Paving	72.782.89	181,209.34		194,839	179, 128.35	610, 280.04	\$60,544.61	4.	1,472,615 38
2. Cadillac Asphalt LLC					,		(h)		
3. Ajax Paving	\$ 79, 148.58	218,73931	\$ 196,522.72	# 227,59743	# 220 984 75	\$ 709,500.68	70,68354	7 3	171617703
4. ML Chartier	h		,		3 3.07				1
5. Hutch Paving									
6. Astec Asphalt					g.				
7.									
8.									
9.									
10.									
11.									
12.									

Opened by: _

Witnessed by:

J. UK

Contract ID: 610725

Description: 2" HMA Mill & Fill and Curb & Gutter

Location:

East China Roads Northlawn Ln, Coverlawn Ln, Shady Ln, Belle River Blvd

Projects(s): 610725

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$189,761.00	5.93%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$179,128.85	0.00%	-5.60%
2	(_5) Ajax Paving Industries	\$220,984.75	23.36%	16.45%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Ace-Saginaw Pa Company	aving	(2) Ajax Paving Ind	ustries
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2090001 Project Cleanup	1	LSUM	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
0002 5010002 Cold Milling HMA Surface	9,905	Syd	\$5.00	\$49,525.00	\$2.85	\$28,229.25	\$3.20	\$31,696.00
0003 5010025 Hand Patching	10	Ton	\$120.00	\$1,200.00	\$200.00	\$2,000.00	\$100.00	\$1,000.00
0004 5012024 HMA, 4EL	1,144	Ton	\$94.00	\$107,536.00	\$99.65	\$113,999.60	\$125.00	\$143,000.00

Contract # 610725 (East China Roads Northlawn Ln, Coverlawn Ln, Shady Ln, Belle River Blvd) MERL: 2023.5.0

Line Pay Item Code	Quantity Units	(0) ENGINEER'S	ESTIMATE	(1) Ace-Saginaw Pa Company	aving	(2) Ajax Paving Ind	ustries
Description		Bid Price	Total	Bid Price	Total		Total
0005 8020031 Curb and Gutter, Conc, Det D2	260 Ft	\$50.00	\$13,000.00	\$65.00	\$16,900.00	\$75.00	\$19,500.00
0006 8120170 Minor Traf Devices	1 LSUM	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$20,668.75	\$20,668.75
0007 8120370 Traf Regulator Control	1 LSUM	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00	\$3,120.00	\$3,120.00
Bid Totals:			\$189,761.00		\$179,128.85		\$220,984.75

Contract ID: 610763

Description:

1.5 inch HMA Overlay, Shoulders and Pavement Markings

Location:

Fruit Street Island Drive to Cemertery Rd

Projects(s):

610763

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$176,011.80	-2.86%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$181,209.34	0.00%	2.95%
2	(_5) Ajax Paving Industries	\$218,739.31	20.71%	24.27%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Ace-Saginaw Pa Company	aving	(2) Ajax Paving Ind	ustries
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2090001 Project Cleanup	1	LSUM	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00
0002 3077031 _ Shld, Cl II, Modified	134	Ton	\$40.00	\$5,360.00	\$36.50	\$4,891.00	\$75.00	\$10,050.00
0003 5012024 HMA, 4EL	1,600	Ton	\$90.00	\$144,000.00	\$93.90	\$150,240.00	\$115.00	\$184,000.00
0004 8110232 Pavt Mrkg, Waterborne, 4 inch, Yellov	3,188 w	Ft	\$0.15	\$478.20	\$0.12	\$382.56	\$0.12	\$382.56

Contract # 610763 (Fruit Street Island Drive to Cemertery Rd) MERL: 2023.5.0

Line Pay Item Code Description	Quantity Unit	s (0) ENGINEER'S Bid Price	ESTIMATE Total	(1) Ace-Saginaw Pa Company Bid Price	aving Total	(2) Ajax Paving Ind Bid Price	ustries Total
0005 8110233	13,318 Ft	\$0.20	\$2,663.60	\$0.21	\$2,796.78	\$0.21	\$2,796.78
Pavt Mrkg, Waterborne, 6 inch, V	Vhite						
0006 8120170 Minor Traf Devices	1 LSU	M \$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$12,917.97	\$12,917.97
0007 8120246 Pavt Mrkg, Wet Reflective, Type	660 Ft R, Tape, 4 inch, Yellov	\$3.50 v,	\$2,310.00	\$2.65	\$1,749.00	\$2.00	\$1,320.00
0008 8120370 Traf Regulator Control	1 LSU	M \$7,000.00	\$7,000.00	\$5,800.00	\$5,800.00	\$1,872.00	\$1,872.00
0009 8127050 _ Monument Box, Special	4 Ea	\$675.00	\$2,700.00	\$650.00	\$2,600.00	\$850.00	\$3,400.00
Bid Totals:			\$176,011.80		\$181,209.34		\$218,739.31

01102024-001 **Contract ID:**

Description: 1.5 inch Mill & Fill and Pavement Markings

Location:

M-29 Chartier Rd Intersection, Marine City, Cottrellville Twp

Projects(s): 01102024-001

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$81,493.50	22.46%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$66,544.61	0.00%	-18.34%
	(_5) Ajax Paving Industries	\$70,683.56	6.21%	-13.26%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	ving	(2) Ajax Paving Indu	ıetrioe
Description Quality Office			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 5010002 Cold Milling HMA Surface	1,970	Syd	\$4.00	\$7,880.00	\$6.85	\$13,494.50	\$7.00	\$13,790.00
0002 5010061 HMA Approach	243	Ton	\$225.00	\$54,675.00	\$135.85	\$33,011.55	\$150.00	\$36,450.00
0003 8110024 Pavt Mrkg, Ovly Cold Plastic, 6	406 inch, Crosswalk	Ft	\$2.75	\$1,116.50	\$3.25	\$1,319.50	\$3.25	\$1,319.50
0004 8110039 Pavt Mrkg, Ovly Cold Plastic, 1 White	80 2 inch, Cross Hatc	Ft ching,	\$8.00	\$640.00	\$6.50	\$520.00	\$6.50	\$520.00

Contract # 01102024-001 (M-29 Chartier Rd Intersection, Marine City, Cottrellville Twp)

MERL: 2023.5.0

Line Pay Item Code (Quantity l	Inite	(a) ENOINEEDIO E		(1) Ace-Saginaw Pa	iving	(0) Aires Desires les des	4
Description Code	auanniy (פווונס	(0) ENGINEER'S ES Bid Price	Total	Company Bid Price	Total	(2) Ajax Paving Indu Bid Price	stries Total
0005 8110045	106	Ft	\$10.00	\$1,060.00	\$13.95	\$1,478.70	\$13.95	\$1,478.70
Pavt Mrkg, Ovly Cold Plastic, 24 inch, 9	,	1.	\$10.00	\$1,000.00	φ13.33	\$1,470.70	φ13.93	\$1,470.70
0006 8110063	1	 Ea	\$155.00	\$155.00	\$225.00	\$225.00	\$225.00	\$225.00
Pavt Mrkg, Ovly Cold Plastic, Lt Turn A	rrow Svm	La	ψ133.00	Ψ100.00	Ψ223.00	Ψ223.00	Ψ225.00	Ψ223.00
0007 8112145	500	Ft	\$2.50	\$1,250.00	\$2.15	\$1,075.00	\$2.15	\$1,075.00
Pavt Mrkg, Wet Reflective Waterborne,			Ψ2.50	Ψ1,200.00	Ψ2.10	ψ1,073.00	Ψ2.10	ψ1,075.00
0008 8112148	250	Ft	\$2.50	\$625.00	\$2.15	\$537.50	\$2.15	\$537.50
Pavt Mrkg, Wet Reflective Waterborne,			Ψ2.00	Ψ020.00	Ψ2.10	ΨΟΟ1.00	Ψ2.10	ΨΟΟ1.00
0009 8120035	50	Ea	\$25.00	\$1,250.00	\$15.00	\$750.00	\$15.00	\$750.00
Channelizing Device, 42 inch, Fluoresc			Ψ20.00	Ψ1,200.00	ψ10.00	Ψ, σσ.σσ	Ψ10.00	ψ, σσ.σσ
0010 8120036		Ea	\$1.00	\$50.00	\$0.01	\$0.50	\$0.01	\$0.50
Channelizing Device, 42 inch, Fluoresc			¥••	ψ.σσ	40.0 .	\$	40.0 .	45.55
0011 8120140		Ea	\$650.00	\$2,600.00	\$400.00	\$1,600.00	\$400.00	\$1,600.00
Lighted Arrow, Type C, Furn			*	, _,	*	, ,,	*	, ,,
0012 8120141	4	Ea	\$10.00	\$40.00	\$0.01	\$0.04	\$0.01	\$0.04
Lighted Arrow, Type C, Oper			,		·	·	·	·
0013 8120170	1 L	SUM	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00	\$9,000.00	\$9,000.00
Minor Traf Devices			. ,		,	. ,	,	. ,
0014 8120350	432	Sft	\$3.75	\$1,620.00	\$4.00	\$1,728.00	\$4.00	\$1,728.00
Sign, Type B, Temp, Prismatic, Furn			•			. ,		. ,
0015 8120351	432	Sft	\$1.00	\$432.00	\$0.01	\$4.32	\$0.01	\$4.32
Sign, Type B, Temp, Prismatic, Oper								
0016 8120370	1 L	.SUM	\$5,000.00	\$5,000.00	\$1,900.00	\$1,900.00	\$1,560.00	\$1,560.00
Traf Regulator Control								
0017 8122002	300	Ft	\$2.00	\$600.00	\$3.00	\$900.00	\$2.15	\$645.00
Pavt Mrkg, Wet Reflective, Type R, Tap	oe, 6 inch, Ye	ellow,						
Bid Totals:				\$81,493.50		\$66,544.61		\$70,683.56

Contract ID: 610738

Description: 1.5" HMA Mill & Fill, Shoulders and Pavement Markings

Location:

River Rd - M-29 to Davis Rd St. Clair Township

Projects(s):

610738

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$74,030.30	2.60%	0.00%
1	(00588) Ajax Paving Industries, Inc.	\$72,148.58	0.00%	-2.54%
2	(00656) Ace-Saginaw Paving Company	\$72,782.89	0.87%	-1.68%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ajax Paving Indu	ustries. Inc.	(2) Ace-Saginaw Pa Company	ving
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2090001 Project Cleanup	1	LSUM	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$500.00	\$500.00
0002 3077031 _ Shld, Cl II, Modified	55	Ton	\$50.00	\$2,750.00	\$75.00	\$4,125.00	\$51.50	\$2,832.50
0003 5010002 Cold Milling HMA Surface	2,936	Syd	\$5.00	\$14,680.00	\$4.10	\$12,037.60	\$5.40	\$15,854.40
0004 5010025 Hand Patching	10	Ton	\$126.00	\$1,260.00	\$100.00	\$1,000.00	\$200.00	\$2,000.00

Contract # 610738 (River Rd - M-29 to Davis Rd St. Clair Township)

MERL: 2023.5.0

Line Pay Item Code	Quantity	Unite	(a) ENGINEEDIGE	OTIMATE	(4) Alexa Devile as leads		(2) Ace-Saginaw Pa	aving
Line Pay Item Code Description	Quantity	Ullits	(0) ENGINEER'S E Bid Price	Total	(1) Ajax Paving Indu Bid Price	istries, inc. Total	Company Bid Price	Total
0005 5012024	257	Ton	\$112.00	\$28,784.00	\$160.00	\$41,120.00	\$125.00	\$32,125.00
HMA, 4EL								
0006 8110232	1,960	Ft	\$0.19	\$372.40	\$0.37	\$725.20	\$0.37	\$725.20
Pavt Mrkg, Waterborne, 4 inch, Yello	W							
0007 8110233	2,030	Ft	\$0.23	\$466.90	\$0.50	\$1,015.00	\$0.50	\$1,015.00
Pavt Mrkg, Waterborne, 6 inch, Whit	е							
0008 8120035	135	Ea	\$22.00	\$2,970.00	\$15.00	\$2,025.00	\$15.00	\$2,025.00
Channelizing Device, 42 inch, Fluore	escent, Furn							
0009 8120036	135	Ea	\$1.00	\$135.00	\$0.01	\$1.35	\$0.01	\$1.35
Channelizing Device, 42 inch, Fluore								
0010 8120170	1	LSUM	\$10,000.00	\$10,000.00	\$6,458.99	\$6,458.99	\$10,000.00	\$10,000.00
Minor Traf Devices			<u> </u>		1		<u> </u>	
0011 8120246	160	Ft	\$3.50	\$560.00	\$2.00	\$320.00	\$2.65	\$424.00
Pavt Mrkg, Wet Reflective, Type R, 1	ape, 4 incn,	Yellow,						
0012 8120350	384	Sft	\$7.00	\$2,688.00	\$4.00	\$1,536.00	\$4.00	\$1,536.00
Sign, Type B, Temp, Prismatic, Furn								
0013 8120351	384	Sft	\$1.00	\$384.00	\$0.01	\$3.84	\$0.01	\$3.84
Sign, Type B, Temp, Prismatic, Oper								
0014 8120352	60	Sft	\$7.00	\$420.00	\$4.00	\$240.00	\$4.00	\$240.00
Sign, Type B, Temp, Prismatic, Spec	, Furn							
0015 8120353	60	Sft	\$1.00	\$60.00	\$0.01	\$0.60	\$0.01	\$0.60
Sign, Type B, Temp, Prismatic, Spec								
0016 8120370	1	LSUM	\$7,000.00	\$7,000.00	\$1,040.00	\$1,040.00	\$3,500.00	\$3,500.00
Traf Regulator Control								
Bid Totals:				\$74,030.30		\$72,148.58		\$72,782.89

Contract ID: 610721

Crush & Shape, 2 inch HMA, Shoulders and Pavement Markings **Description:**

Location:

Shortcut Road 1700' east of McKinley to 3100' west of Marsh Rd

Projects(s):

610721

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$198,480.90	1.86%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$194,839.90	0.00%	-1.83%
2	(_5) Ajax Paving Industries	\$227,597.43	16.81%	14.66%

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	ving	(2) Ajax Paving Indu	ıstries
Desci	ription			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 Proje	2090001 ct Cleanup	1	LSUM	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00
0002 _ Agg	3027031 gregate Base, Modified	100	Ton	\$65.00	\$6,500.00	\$50.00	\$5,000.00	\$75.00	\$7,500.00
0003 _ HM	3057011 A Base Crushing and Shaping, I	8,267 Mod	Syd	\$3.20	\$26,454.40	\$3.05	\$25,214.35	\$3.03	\$25,049.01
0004 _ Shl	3077031 d, Cl II, Modified	163	Ton	\$40.00	\$6,520.00	\$36.50	\$5,949.50	\$75.00	\$12,225.00

Contract # 610721 (Shortcut Road 1700' east of McKinley to 3100' west of Marsh Rd)

MERL: 2023.5.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	aving	(2) Ajax Paving Ind	ustries
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0005 5012024	955	Ton	\$90.00	\$85,950.00	\$90.00	\$85,950.00	\$115.00	\$109,825.00
HMA, 4EL								
0006 8110232	775	Ft	\$0.15	\$116.25	\$0.19	\$147.25	\$0.19	\$147.25
Pavt Mrkg, Waterborne, 4 inch, Yello								
0007 8110233	6,200	Ft	\$0.20	\$1,240.00	\$0.29	\$1,798.00	\$0.29	\$1,798.00
Pavt Mrkg, Waterborne, 6 inch, Whit								
0008 8120012	6	Ea	\$80.00	\$480.00	\$60.00	\$360.00	\$60.00	\$360.00
Barricade, Type III, High Intensity, De	ouble Sided,	Lighted,						
0009 8120013	6	Ea	\$1.00	\$6.00	\$0.01	\$0.06	\$0.01	\$0.06
Barricade, Type III, High Intensity, De	ouble Sided,	Lighted,						
Oper 0010 8120170	1	LSUM	\$13,000.00	\$13,000.00	\$14.000.00	\$14,000.00	\$13,186.17	\$13,186.17
Minor Traf Devices	ļ	LSUM	\$13,000.00	\$13,000.00	\$ 14,000.00	\$14,000.00	φ13,100.17	φ13,100.1 <i>1</i>
0011 8120246	252	Ft	\$3.50	\$882.00	\$2.65	\$667.80	\$2.00	\$504.00
Pavt Mrkg, Wet Reflective, Type R, 7			φο.σσ	Ψ002.00	Ψ2.00	ψοσ7.00	Ψ2.00	ψου 1.00
Temp				l.		l		
0012 8120350	209	Sft	\$7.00	\$1,463.00	\$4.00	\$836.00	\$4.00	\$836.00
Sign, Type B, Temp, Prismatic, Furn								
0013 8120351	209	Sft	\$1.00	\$209.00	\$0.01	\$2.09	\$0.01	\$2.09
Sign, Type B, Temp, Prismatic, Oper								
0014 8120352	57	Sft	\$7.00	\$399.00	\$4.00	\$228.00	\$4.00	\$228.00
Sign, Type B, Temp, Prismatic, Spec			Φ4.00	фг. 7 00	ФО О4	фо г .	ФО 04	Φ0.57
0015 8120353 Sign, Type B, Temp, Prismatic, Spec	57 Oper	Sft	\$1.00	\$57.00	\$0.01	\$0.57	\$0.01	\$0.57
0016 8507022	12,401	Gal	\$4.25	\$52,704.25	\$4.28	\$53,076.28	\$4.28	\$53,076.28
Asphalt Cement Binder	12, 4 01	Gai	Ψ4.23	φυ <u>2,704.2</u> 5	Ψ4.20	φυυ,υτυ.20	φ 4 .20	φυυ,070.20
0017 8507031	2	Ton	\$500.00	\$1,000.00	\$430.00	\$860.00	\$430.00	\$860.00
Portland Cement Binder	2	1011	Ψ000.00	ψ1,000.00	ψ+00.00	Ψ000.00	ψ+00.00	Ψ000.00
				¢400,400,00		£404 930 00		¢227 507 42
Bid Totals:				\$198,480.90		\$194,839.90		\$227,597.43

Contract ID: 610737

Description: HMA Overlay, Shoulders and Pavement Markings

Location:

Stone/Benoit/McKinley Rd - High Rd to Swartout Rd Clay Township

Projects(s): 610737

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$164,474.57	-1.99%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$167,829.75	0.00%	2.03%
2	(_5) Ajax Paving Industries	\$196,522.72	17.09%	19.48%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Ace-Saginaw Pa Company	aving	(2) Ajax Paving Ind	ustries
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2090001 Project Cleanup	1	LSUM	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00
0002 3077031 _ Shld, Cl II, Modified	236	Ton	\$40.00	\$9,440.00	\$32.00	\$7,552.00	\$75.00	\$17,700.00
0003 5010025 Hand Patching	10	Ton	\$126.00	\$1,260.00	\$200.00	\$2,000.00	\$100.00	\$1,000.00
0004 5012025 HMA, 4EML	1,351	Ton	\$92.00	\$124,292.00	\$100.00	\$135,100.00	\$115.00	\$155,365.00

Contract # 610737 (Stone/Benoit/McKinley Rd - High Rd to Swartout Rd Clay Township) MERL: 2023.5.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	ving	(2) Ajax Paving Indu	ıstries
Description	_) Bid Price	Total	Bid Price	Total	Bid Price	Total
0005 8110232 Pavt Mrkg, Waterborne, 4 inch, Yel	7,515 llow	Ft	\$0.19	\$1,427.85	\$0.13	\$976.95	\$0.13	\$976.95
0006 8110233 Pavt Mrkg, Waterborne, 6 inch, Wh	11,564	Ft	\$0.23	\$2,659.72	\$0.20	\$2,312.80	\$0.20	\$2,312.80
0007 8120170 Minor Traf Devices	1	LSUM	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00	\$12,917.97	\$12,917.97
0008 8120246 Pavt Mrkg, Wet Reflective, Type R. Temp	920 , Tape, 4 inch,	Ft Yellow,	\$3.50	\$3,220.00	\$2.65	\$2,438.00	\$2.00	\$1,840.00
0009 8120370 Traf Regulator Control	1	LSUM	\$7,000.00	\$7,000.00	\$6,000.00	\$6,000.00	\$1,560.00	\$1,560.00
0010 8127050 _ Monument Box, Special	1	Ea	\$675.00	\$675.00	\$700.00	\$700.00	\$850.00	\$850.00
Bid Totals:				\$164,474.57		\$167,829.75		\$196,522.72

Contract ID: 610752

Description: Crush and Shape Base, HMA Stabilize Base, HMA Overlay, Shoulders and Pavement Markings

Location:

Wadhams Rd - Puttygut Rd to Fred Moore Hwy China Township

Projects(s): 610752

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$645,080.27	5.70%	0.00%
1	(00656) Ace-Saginaw Paving Company	\$610,280.04	0.00%	-5.39%
2	(_5) Ajax Paving Industries	\$709,500.68	16.25%	9.98%

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa Company	ving	(2) Ajax Paving Indu	ustries
Desci	ription			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001	2090001	1	LSUM	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$4,000.00	\$4,000.00
Proje	ct Cleanup								
0002	3027031	100	Ton	\$65.00	\$6,500.00	\$50.00	\$5,000.00	\$75.00	\$7,500.00
_ Agg	gregate Base, Modified								
0003	3057011	28,918	Syd	\$3.20	\$92,537.60	\$3.05	\$88,199.90	\$3.03	\$87,621.54
_ HM	IA Base Crushing and Shaping	g, Mod							
0004	3077031	652	Ton	\$30.00	\$19,560.00	\$32.00	\$20,864.00	\$40.00	\$26,080.00
_Shl	d, Cl II, Modified								

Contract # 610752 (Wadhams Rd - Puttygut Rd to Fred Moore Hwy China Township) MERL: 2023.5.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Ace-Saginaw Pa	aving	(2) Ajax Paving Ind	uetriae
Description	Quantity	Omio	Bid Price	Total	Bid Price	Total	Bid Price	Total
0005 5012025 HMA, 4EML	3,212	Ton	\$95.00	\$305,140.00	\$88.50	\$284,262.00	\$115.00	\$369,380.00
0006 8110232 Pavt Mrkg, Waterborne, 4 inch, Yello	3,378	Ft	\$0.19	\$641.82	\$0.13	\$439.14	\$0.13	\$439.14
0007 8110233 Pavt Mrkg, Waterborne, 6 inch, White	20,020	Ft	\$0.23	\$4,604.60	\$0.17	\$3,403.40	\$0.17	\$3,403.40
0008 8120012 Barricade, Type III, High Intensity, Do	8	Ea Lighted,	\$80.00	\$640.00	\$60.00	\$480.00	\$60.00	\$480.00
Furn 0009 8120013 Barricade, Type III, High Intensity, Do	8 ouble Sided,	Ea Lighted,	\$1.00	\$8.00	\$0.01	\$0.08	\$0.01	\$0.08
Oper 0010 8120170 Minor Traf Devices	1	LSUM	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$22,000.00	\$22,000.00
0011 8120246 Pavt Mrkg, Wet Reflective, Type R, T	900 [ape, 4 inch,	Ft Yellow,	\$3.50	\$3,150.00	\$2.65	\$2,385.00	\$2.00	\$1,800.00
Temp 0012 8120350 Sign, Type B, Temp, Prismatic, Furn	330	Sft	\$7.00	\$2,310.00	\$4.00	\$1,320.00	\$4.00	\$1,320.00
0013 8120351 Sign, Type B, Temp, Prismatic, Oper	330	Sft	\$1.00	\$330.00	\$0.01	\$3.30	\$0.01	\$3.30
0014 8120352 Sign, Type B, Temp, Prismatic, Spec	182 , Furn	Sft	\$7.00	\$1,274.00	\$4.00	\$728.00	\$4.00	\$728.00
0015 8120353 Sign, Type B, Temp, Prismatic, Spec	182 , Oper	Sft	\$1.00	\$182.00	\$0.01	\$1.82	\$0.01	\$1.82
0016 8127050 _ Monument Box, Special	2	Ea	\$675.00	\$1,350.00	\$700.00	\$1,400.00	\$850.00	\$1,700.00
0017 8507022 _ Asphalt Cement Binder	43,377	Gal	\$4.25	\$184,352.25	\$4.20	\$182,183.40	\$4.20	\$182,183.40
0018 8507031 _ Portland Cement Binder	2	Ton	\$500.00	\$1,000.00	\$430.00	\$860.00	\$430.00	\$860.00
Bid Totals:				\$645,080.27		\$610,280.04		\$709,500.68